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Time : 3 Hours ] [ Maximum Marks : 80
au ;3 U0 | [ qUTiek : 80
Note : (i) There are 24 questions in all.

(ii)
(iid)
(iv)
(v)

(vi)

(vii)

(viii)

(ix)

(x)

All questions are compulsory.
Marks for each question are indicated against it.

Question Nos. 1 and 2 are on filling Outline Maps of the World and India
respectively. Each question contains 4 test-items of very short answers of
1 mark each.

Question Nos. 3 to 6 are very short answer questions carrying 1 mark each.
Answer to these questions should not exceed 30 words each.

Question Nos. 7 to 11 and 21 & 22 are also very short answer questions
carrying 2 marks each. Answer to these questions should not exceed
60 words each.

Question Nos. 12 to 15 and 23 & 24 are short answer questions carrying
4 marks each. Answer to these questions should not exceed 100 words each.

Question Nos. 16 to 20 are long answer questions of 6 marks each. Answer
of each of the questions should not exceed 140 words.

Use of templates or stencils for drawing outline maps in illustrating your
answer is allowed.

Answer of Question Nos. 21 to 24 should be given from any one of the
Options.
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(vi) U EEN 7 ¥ 11 a% IR 21 qu1 22 «ft Afd g-3TT T E IR UIE T F 2 37F
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(vii) T W@ 12 ¥ 15 R 23 991 24 -39 T, S @ 5o0E F 4 7F T A
U1 1 IW 100 e U 3 1 AL BT =Ry

(viil) T &I 16 ¥ 20 T dE-ITT T ¢ 3R TS TH k6 3P ¢ | WY YAk T A
W 140 Fsel § fek 1 FE BT =R |

(ix) 1O I T B o AU mEle s % foe afEt S % ga i srgafa @
STt 21

(x) U GEN 21 ¥ 24 dF & IR [ wek foerew § @ i)

SECTION-A
Gus-A

1. Four geographical features with serial numbers (1) to (4) are marked on the
given Political Outline Map of the World. Identify these features with the help of
the following information and write their correct names in your answer-book
against each number : 1x4=4

(1) A Mountain; (2) A River; (3) A Country of Asia and (4) A Sea.

TR & fou U uomfae WemmtEm 4 SR dnifas @@en e @' (1) 8 (4) 9%
foarn e R = g @ FEfafad SHeEd f mee @ ggenf o e wd AW e
IW-YfETH § TS T % amd i

(1) wdd; (2) 7t (3) TRET *1 TH I qAT (4) WER|
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2. The following four geographical features with serial numbers (1) to (4) are
marked on the given Political Outline Map of India. Identify these features with
the help of the following information and write their correct names in your
answer-book against each number : 1x4=4

(1) A Mountain; (2) A River; (3) A Centre of Textile Industry and (4) A Major
Sea Port.

IRA & U MU qtaer amErE § efafad =a) aenfas @@en s @@ (1) 9 (4)
T fe@mn ™ 7| 3 A # A" € T THe il Heg W UgETET 3R 3% T Am
ol IW-Yeaem § Tk we@ & 9md fafag

(1) 9dd; (2) 7t (3) T& IANT 1 TH 5 a1 (4) T TG T |

INDIA (Political)
R (TSH1<Teh)

3. What is atmosphere? 1
argHed Rl wed 27
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4. Which is the lowest layer of the atmosphere?
argred I ged e wa wE-H 27

5. Define the term resource.

T e bl gt difsm)

6. Where is dry farming practised?
I HY HT ToeH FEl 87

7. Distinguish between sedimentary rocks and metamorphic rocks by giving one
point of differentiation of each.

% o o fqudee @1 U fog 9d g0 STEWrEl Ral SR &G el H o A T
i

8. Explain any two features of natural resources.

TR HETOAl % foheel g1 @l i SATe it

1x2=2

1x2=2

9. Study the table giving the climatic data of some Major Meteorological Centres of
India, and answer the questions given below it :

Mean Monthly Temperature and Rainfall in
Major Meteorological Centres in India
T=Temperature (in °Celsius) and P=Precipitation (in mm)
Station | T/P | J F M A M J J A S O N D
Leh T -8 | -7 | -1 9 10 14 17 17 12 6 0 -6
P 10 8 8 5 5 5 13 13 8 5 0 5
Shillong| T 10 11 16 19 19 | 21 21 21 20 17 13 10
P 14 | 29 | 56 | 146 | 295 | 476 | 359 | 343 | 302 | 188 | 36 10
Kolkata | T 20 | 22 | 27 | 30 | 30 | 30 | 29 | 29 | 29 | 28 | 24 | 20
P 12 | 28 | 34 | 51 | 134|290 | 331 | 334 | 253 | 129 | 27 4
Delhi T 14 17 | 23 | 29 | 34 | 35 | 31 30 | 29 | 21 20 15
P 21 24 13 10 10 | 68 | 186 | 170 | 125 | 14 2 9
(a) Calculate the mean annual temperature of Leh.
(bp) How much is the annual precipitation of Leh? 1+1=2

316/ 0SS /208A



AR o $© T HEHEIH-HaHl sl o Siqarg-gadl 3Thgl sl YeiRId i dTefl qrieishl
T AL HIT AT 3ok 1= U Tt & I e

WRA o THE WOATTAH-Taet sl o1 Sited ATfeeh araa= 3 a9t
qr.=amme (cafeaed #); 9.=aw (fHowio #)

a

| | w | WA A | Y| R e | A | R

By oA

-8 | -7 | -1 9 10 14 17 17 12 6
10 8 8 5 5 5 13 13 8 5 0 5

10 11 16 19 19 | 21 | 21 | 21 | 20 17 13 10
14 | 29 | 56 | 146 | 295|476 | 359 | 343 | 302 | 188 | 36 | 10

20 | 22 | 27 | 30 | 30 | 30 | 29 | 29 | 29 | 28 | 24 | 20
12 | 28 | 34 | 51 | 134|290 | 331 | 334|253 | 129 | 27 4

14 17 | 23 | 29 | 34 | 35| 31 | 30 | 29 | 21 | 20 15
21 | 24 13 10 10 | 68 | 186 | 170 | 125 | 14 2 9

o
|
o)

o2 a2 o3 oo

(%) @ 1 NEq e qoEe fhar 87
(@) I 1 e e e 27

. Define density of population. What is the density of population of India

according to 2001 Census? 1+1=2

SHEE B i g @fTl 2001 H SIUAT % AR WRA i SHUEA H
fopaa 27

. Why did tribal people settle in areas of harsh environmental conditions?

Explain in two points. 1+1=2
FHAT S %k T SR TATSR SNed Ot &= § N wd 27 &t foegedt ¥ w
hifsy |

. Name the four main branches of systematic geography and explain the main

features of each of its four branches. 2+2=4

FHEE e I UR GET WM % AW SaRy 9O 9’ wEEed § § vk fl vy
foreyareti &t =men Hiu |

316/ 0SS /208A 74 IPTO



13. What is salinity and how is it expressed? Why is there high salinity in Red Sea?
Explain in two points. 1+1+2=4

daurar fr8 wed & don 3@ foRE YR wee foRm S B7 @ @R A 3= S9urdn

R S 37 @ fegat # T AR

14. Explain the physical and socio-economic factors that influence the population
distribution and density. 2x2=4

ST o fIqur 3R gacd w Udifad e 91l fifdes 3T wmifSeR-3Tfdes weRt hi
AT HIfST |

15. What is landslide? Suggest any three measures to control landslide and
mitigate their impacts. 1+3=4

e R ®Ed B¢ FEeH S Uk 3R 3Ah gUWEl Pl HH FH ok I dF U™
RSEIERY

16. Describe any six methods to control soil erosion. 1x6=6

HaT-3THEH o = 6 fhdl = fafen @1 avfa fifs)

17. Describe the three factors that influence the amount of insolation received on
the Earth’s surface. 2x3=6

A T T GATAY h1 WA Rl TG A AT G D 1 G0 HITC |

18. Define the terms Terrestrial ecosystem and Aquatic ecosystem. Describe two
characteristics of each ecosystem. 2+2+2=6

Ty Uiay 3R Sef™ uiias el hl giwrn U] yas uiias i S fomwaret o
Ui FHifs)

19. Describe the significance of resources in three points. 2x3=6

TUTEET % Heed #1 o foged # auia fifs|

20. Explain any six issues in agricultural development. 1x6=6

FiY foem § 5t B0 gg@l 1 e Hif)
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SECTION-B
Qus—d

OPTION-I / fasea-1
( Local Area Planning )

( i &= e )

21. Water harvesting and management are essentials for need-based planning.
Explain it in two points. 1x2=2

S TUEY AR YaY STEvIshal-engia s % forw sifterd g1 sweht @t feegeti ®
TE Hif |

22. Study the map of Village Akbarpur given below carefully and answer the
following questions :

VILLAGE AKBARPUR
( CENTRAL INDIAN PLATEAU )
PUBLIC UTILITIES, COMMON PROPERTY RESOURCES
AND HUMAN SETTLEMENT PATTERNS

----------------------------------------

BANDA N NE W N
W

~nA ‘i\i H
lala el
FIELDS
T 1
T
Z T
FIELLS

BANDA

T | Toliet
i Hand pump

<** Railway
¢ Road

S  Junlor School
" Tree Plantation TITHTIT: Agricuture Labour

"t Dispensary . Pastures == famers Hill

_| PostOffice i :}; i Weavers Graves
: | Public Call Office . - Blacksmith [7‘7 Shops | Cremation Site
—_! Police Checkpost! w . Washermen m Mosque

(a) Draw the symbol in your answer-book that represents the tree plantation
in the map.

(bp) How many trees have been shown in the map? 1+1=2

316/ 0SS /208A o IPTO



ARG 19 o AR 1 SAHYeleh AL hiiSg qel FHefeTiad geat o I i
19 - 3TRETER
(WET R 93
TSR STARTATE, FYh T qere
R g 3Ta Ty

----------------------------------------

Wb W N
W fous:

CIE] ~AA
‘a'a)

(%) ot IW-gfew & 39 fag @ 9Ee St AW § gERme @ et g
(@) wHtE # fhad U femm o 27

23. Explain the process of conducting interviews to collect the data in four points. 1x4=4

IATHS THA HH o I WATHR o4 1 Ui 1 ar fomgsti ¥ we il

24. Explain four priorities of planning for the improvement of slum areas of
Indian cities. 1x4=4

IR TR o Al a%dl &= o guR % fou FEeE @ ww wufisearet f oS
it |
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21.

22.

23.

OPTION-II
faehca-11

( Geography of Tourism in India )

( W # -t )

Explain by giving any two facts that coastal waters of mainland of India and of
islands are another sources of tourist attraction. 1x2=2
IS Bl q o THITET fF WRA % YT ad S 3R 39k Ui % AR AR foega i@
eshi % SAHYU I G B

“An irregulated rush of visitors to areas of tourist interest, puts a great
pressure on local resources.” Support this statement with any two suitable
arguments. 1x2=2

“gefesr Wi B o & W Wl hl AWIMG A YT TAME GEEE] W ARG a9
T 217 et & suge a3 @ s A gfe A

Why is India a land of varied climate? Explain any four factors responsible for
the varied climate of India. 2+2=4

ra fafag yer 6 Saeg A o w0 27 vra | fafag Soey % o swert e
TR FHEH hl AR I |

24. Keeping the State as a base, make four correct groups from the following three
columns : 1x4=4
State Cultural Centre Monument
(1) | Punjab (@) | Kirti Stambh (i) | A deserted fort city
(2) | Rajasthan (b) | Mandu (ii) | A major Sikh Shrine
(3) | Madhya Pradesh (c) | Harmindar Saheb |(ii)| A ruined ancient capital city
(4) | Karnataka (d) | Hampi (iv)] A Rajput king’s Victory Tower
TS &l AER TR = 7T M0 9 w991 § § IR 98 998 oy
T R Hg R
(1) | (@) | -z (i) | e gt
(2) | TsEaE (b) | @iy (i) | ol =1 @ Tegw
(3) | =& e (c) | wxfirex il (iii) | eIy WA T TR
(4) | i (d)| == ht (iv) | T TSYd T 1 faeE e
* kK

316/ 0SS /208A 11 vl1—7000x3



